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Question 1
Question Type: MultipleChoice

Two pipelines (A & B) are entering a Joiner transformation with each having a record size of 100 bytes. Pipeline A has a total of 1000

records and Pipeline B has a total of 1,000,000 records. Which pipeline should be designated the master pipeline?

Options: 
A- Pipeline A

B- Pipeline B

C- Both Pipelines should be cached for performance reasons

D- Pipeline B if and only if Pipeline A is sorted

Answer: 
A

Question 2
Question Type: MultipleChoice



Which of the following statements is correct on workflow events?

Options: 
A- A predefined (or file-wait) Event Wait task waits for a file to appear at the specified location. As soon as the file appears, the event

succeeds and the file can be processed by the subsequent mapping

B- A user-defined event can be created a-d raised in one workflow and then used In another

C- A predefined (or file-wait) Event Wait waits for a file to appear at the specified location. As soon as the file appears, it is deleted and

the subsequent task will start.

D- A user-defined event can be created in either the Event Wait or Event Raise task

Answer: 
C

Question 3
Question Type: MultipleChoice

Given the picture shown below:



Identify all of the true and correct statements listed below. Note: The red (or gray) arrow points at the line in question.

The line on the left hand side of the picture which connects PRODUCT TO PRODUCT_COST : Choose 2 answers

Options: 
A- Describes a LEFT OUTER JOIN between PRODUCT AND PRODUCT_COST

B- Describes an INNER JOIN between PRODUCT AND PRODUCT_COST

C- Describes a secondary data flow needed for a sub-select process between PRODUCT AND PRODUCT_COST

D- Can be created within Informatica PowerCenter

Answer: 
B, D



Question 4
Question Type: MultipleChoice

Referring to an Unconnected Lookup transformation: Which one of the following is true? (choose one)

Options: 
A- An unconnected lookup can return multiple rows while a connected lookup may return only one

B- Both connected and unconnected lookups can return multiple rows

C- An unconnected lookup may return only one value while a connected lookup may return multiple rows

D- Both connected and unconnected lookups can return only one row

Answer: 
C

Question 5
Question Type: MultipleChoice



In which of the following selections are all of the transformations active?

Options: 
A- Expression, Router, Joiner

B- Update Strategy, Expression, Aggregator

C- Stored Procedure, Joiner, Router

D- Router, Update Strategy, Joiner

Answer: 
D

Question 6
Question Type: MultipleChoice

Which of the following is a reusable task available in workflow manager?



Options: 
A- Decision

B- Assignment

C- Control

D- Command

Answer: 
B

Question 7
Question Type: MultipleChoice

What is a pipeline lookup transformation?

Options: 
A- A lookup created using a pipeline which contains a target



B- A lookup cache split over pipelines of a partitioned mapping

C- A lookup associated with the Source Qualifier or an Application source such as JMS or SAP

D- A pipeline lookup does not exist

Answer: 
C

Question 8
Question Type: MultipleChoice

Which command line tool would you use to execute a workflow?

Options: 
A- infasetup

B- infacmd

C- pmcmd

D- pmrep



Answer: 
C

Question 9
Question Type: MultipleChoice

Which is the correct priority of assigning a mapping variable?

Options: 
A- Workflow parameter file, session parameter file, pre-session assignment, repository value, declared initial value, default value

B- Session parameter file, workflow parameter file, repository value, declared initial value

C- Repository value, workflow parameter file, pre-session assignment, session parameter file, default value

D- Repository value, declared initial value, default value

Answer: 
A



Question 10
Question Type: MultipleChoice

Which port types are applicable to the Stored Procedure transformation?(Choose all that apply) Choose 3 answers

Options: 
A- lnput

B- Output

C- Variable

D- Return

Answer: 
A, B, D

Question 11
Question Type: MultipleChoice



What function could be used to exchange 'i' with 'I' in the COMPANY port given the following expression? function name{1, COMPANY,

'i' , 'I')

Options: 
A- CHOOSE

B- REPLACECHR

C- REG_REPLACE

D- INSTR

Answer: 
B

Question 12
Question Type: MultipleChoice

In the Expression transformation graphic below, what is the value of the PREVIOUS_STATE port for row 2, given that the value for the

STATE port was 'CA' for row 1?



Options: 
A- STATE

B- 'CA'

C- NULL

D- Value of the PREVI0US_STATE port is based upon its declared default value

Answer: 
B
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